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a. Stone b. Reading glass c. Wax paper d. Dense fog

10. Light is a form of
a. Energy b. Power c. Mass d. Length




11. Which of the following will not form circular shadow
a. A circular disk b. Shoe box c. Ice-cream cone d. A ball

12. Shadow is formed by
a. Transparent object b. Translucent object ¢. Opaque object d All of these.
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2. Using the following words, write the habitat of each animal given in Fig. 9.1 (a to d).
Grassland, Mountain, Desert, Pond, River

Fig. 9.1
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(a) submerged leaves can bend in the flowing water.

(b) leaves can float on the surface of water.




Ans. (a) Leaves are narrow and ribbon like.
(b) Stems/stalks of leaves are long, hollow and light.
6. Mention one adaptation present in the following animals:

(a) In camels to keep their bodies away from the heat of sand.

(b) In frogs t ﬁm to swim.
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12. Write the similarities and differences between the motion of a bicycle and ceiling fan that has
been switched on.

Answer: Similarities: - Wheel of a bicycle and ceiling fan both shows circular motion.

Differences: - Cycle moves in rectilinear motion but ceiling fan does not move in rectilinear motion.




13. Why could you not use an elastic measuring tape to measure distance? What would be some of
the problems you would meet in telling someone about a distance you measured with an elastic tape?

Answer: Elastic tap will not give accurate measurement because it stretches in length and reduces in
size when not stretched. While telling the measurement taken with an elastic tape. We have to tell
whether the tape was stretched and by how much. This is very difficult.
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Ans. The torch at position C could not form an image of the bakl on screen because to get an image
on the source of light falling on the object must be opposite to the screen.

17. Look at the figure given in Fig. 11.8.
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Fig. 11.9

The shape of the shadow obtained in two positions is shown in Fig. 11.10.
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Match the position of the torch and shape of the shadow of the ball.
Ans. A ’
YAN S HA \
pRA Sk
If the
incid

n01dent1 aller the shadow is longer On the o@ hand, if th
1S blgger shadow is smaller. This explains, why our sh s are lon
'\ d evemn&a smalle nﬁ;&noon

A dent cg\?ered a torch

tai shad of an opaqug object. She rep Nhfs activit

1 f the 1 t affect the shadow? Explain.

\0

ith red cellophane sheet to obtain red light. Using t'ﬁ"e' red light, she
<

nd blue &ht Wi

ngln e colour of lig e to the fact t shadawy is

tch fo d when the path o ibits t hght fr
in thq’ﬂladow re
\ ound us @ays tran/
ir aroun is transparent tot rrence of. &eg smoke

clou ir does not transpar y more.

< Long Questlons A

| __.II
1. Like many animals 3. Organism. Give 2-3
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Ans. Both living organisms and car move but the difference ishat living organisms move on their

own as they have life. But car is a non living thing which is operated by an individual. It requires
fossil fuel to move . Another reason that proves that car is not a living thing is the absence of life
processes like respiration, reproduction, excretion, ingestion, growth etc which are the
characteristics of living things.




2.What are the adaptive features of a lion that helps it in hunting?
Ans. Adaptations of lion which helps it to easily catch its prey are as follows:

(a) The colour of its body and mane is brown which helps it to hide amongst bushes and open area
thereby avoid detection by its prey.

allow it to know the exact location and movements prey

(b) Eyes placed W i i
(c) Power d long claws enable it to catch and kill the prey.
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Ans. The sheet of plywood is an opaque object and will form a dark patched shadow on the screen
because it completely obstructs the path of light.

Whereas the piece of muslin cloth ias a translucent object and will form a lighter shadow because it
allows light to pass through it partially.

The transparent glass will allow the ray of light to pass through it and hence does not form any

shadow.
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